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nswer.

on the Optical

1. The diagram below represents a lifa process that takes place in green plants on a bright day.

Substance 8 tzken in
from the anvironment

Ensrgy X

Substance U ref
to tha environme

ased

-

Life prooéss

7

Substance T takenin
from the environment

Which one of the following correctly identifies S, T, U, V and X7

{1
@
(3)
4

™~

Substance V mada in

the plant

Substance
) T U v Energy X
nxygen water carbon dioxide sugar heat
oxygen sugar carbon dicxide water light
carbon dioxide sugar oxygen water heat
carbon dioxide water oxygen sugar light
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2. Contalnars, A, B and C, were set up with the same amount of carbon' dioxide at the start of
an experiment. For 12 hours, containers A and B were kept in the prasence of light while
contalnar C was kept in darkness.

lid - fid

=4— watsr
snails 1

C
(in darkness)

Whilch one of the following shows the containers arranged according to the amount of carbon
dioxide in them at the end of the experiment?

foast carbon dioxide —+ most carbon dioxide
0 T
{2) - A : C
) B . ¢ . A
4) c N A .. B
3. The diagrem below shows a flower. L

Which of the following is correct after pollination and fertilisation have taken place?

Develops Into a ind Dsveiops into a fruit
{1) K L
@) L K
@ M N
@ [ N M
Page 3 of 18

www.testpapersfree.com



4,

Ralph observed two fruits, R and S, as shown below.

Frult R Fruit S
Based on tha diagrams above, which of the following shows the most likely dispersat methods
for fruits R and 8?7
Fruit R Frults

(1) waler animals

(2) walar wind

{3) explosive action animals

4) expiosive action wind

Which of the following statements are true for sexual reproduction in both plants and

-3

7cm 0.8cm

Y.

Pollination takes place before fertilisation.
Characieristics ars passed on from parent to the young.

The male reproductive cell fuses with the female reproductive cell during

humans?
A
B
c

fartilisation.
{1) AandBonly
() AandConly
(3) BandC only
(4} ABandC
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8.

Study the flowchart below carefully.

Paris of the human
repraductive system

Is it found in
malas?

Does it produce the
female reproductive
cell?

Which of the following cormectly identifies parts P, Q and R?

Part P Part Q PartR
("1) | vagina . ovary penis
(2) penis ovule womb
(3 testis | ovary womb
(4) penis ovule vagina

Which of the following traits can be inherited?

A Eye colour .

B Length of hair

c Type of eariobe .
D

Length of fingemails,

(1) AandConly

(2) BandDonly

(3) A.CandDonly
(4 A,B,CandD
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Three cells X, Y and 2 are shown below.
®/P '
Cell X - CeliY CeliZ
Which of the following gives the comact classification of the cells and functlen of part P7
Plant Cell | Animal Cell Fuhctlon of part P
1) Y XandZ gives the cell a shape
(2) Y XandZ contains genefic information .
3| YandZ X controls all the activities in a cell
{4)] YandZ ‘ X gives the cell a shapa
Ryan placed four identicat fruits in four identical sealed boxes. He placed boxes A and Bin
the refrigerator and boxes C and D in a wam place. Substance K absorbs oxygen found in
the box.
" Box A (refrigerator) Box B (refrigerator)
air
substance K
fruit fruit . A
"l weer- k] S ot Nagp
Box C (wam place) Box D (warm place)
alr
. substance K
fruit ' fruit .| ‘
T v e voir- =) e
Based on the information above, in which box(ss) would fungus appear on he fruit?
{1) C only (2. AandConly
{(3) BandDonly . (4) A, BandDonly
Page 6 of 19
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10.

1.

Fish use part X for gaseous exchange with the surroundings.

Which of the following statemants about part X Is cotrect?

A PartXis rich in blood vesseis.
B Part X absorbs water rich in oxygen.
c Water flows over part X for the exchangs of gases.

{1} AandBonly
{(Z) AandConly
(3) BandConly
(4) A,BandC

Ari removed the food-camying tubes of a plant at position L as shown in the diagram beiow.

| position L.

food-carrying
fubas removed

Ari then made the following predictions. Which of the following statements is comect?
(1)  The roots of the plant will die as they cannot recelve food.
(2) The plant will continue to survive as all parts can still receive food and water.

(3) The leaves at position J will wither as they cannot receive water from the roots.
{4) The laaves at position K will wither as they cannot receive water from the roots.

Page 7 of 19
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12.

The food-carrying tubes of a stem were removed from 2 plant as shown belpw. The plant

was left under the sun and watered every day.

laaves in section B -

Part X was observed to be bigger after a month.

Which of the following best explains the obsgwaﬁon?

(1)
03]
3
(4)

- leaves in section A

N

ing tubes

s0il

Part X made its own food.
Food made in the leaves in section A was transported to and stored in past X
Food made in the leaves in section B was transporied to and stored in|part X.

Food made in leaves in both sections A and B was transported to and stored in part
X.

Page 8 of 19
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13.  Study the diagram below. P, Q, R and S represent blood vessels,

heart

lungs

Direction of blood flow in a human

Based on the diagram above, which ona of the folfowing statements is not comrect?

(1)
@)
(3)
{4)

P, Q, R and S contain oxygen.

Q contains less oxygen than P.

R contains less carbon dioxkie than S.
Q contains more carbon dioxide than §.

14.  The table below shows the characteristics of two animals, A and 8.

; Animal
Characteristics A B
The adult has six legs. Yos No
The young looks like the
adult. No No
The young and the adult are '
both plant-eaters. Yes No
The animal spends all its
life stages on land only. Yes No

Which one of the following correctly shows what animals A and B might be?

(1)
(2)
3
(4)

A B
beetia chicken
butterfiy - frog
frog _ butterfly _
chicken beatle .
Page 9 of 19
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18,

Number
of days

The graph below shows the numbar of days that insects L and M spend at each stage of

their life cycle.

% Insect L.

. Insect M

BB BN

14

7

-
o N B O

AN

| -

egg larva pupa adult Stages

" Based on the information in the graph, which of the following statement(s) isjare correct?

Insect L can be a beetle while insect M can be a grasshopper.
Insect M spends a longer time in the adult stage than insect L.
Both insects L. and M take the same time for the young to develop jnio an adult
after hatching from the egg.

Aaonly

B only
Conly

B and C only
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16.  Study the flowchart below.

Based on the flowchart, which of the following correctly identifies human body systems A, B,

M
(2)
(3)
)

Body systems

Does it directly Yes
cause different [~

Yes

Isitmadeupof [22 o 4

bones?

parts of the body
to move?

J

Does it help to

transport substances | Yes > C

around the body?

o]

D

o]

C and D? .
A B [ D
Skelatal _Muscular Digestive Respiratory
Muscuiar Respiratory Circulatory Digestive
Skeletal Muscular Circulatory Digestive
Muscular Circulatary Digestive Respiratory
Page 11 of 19
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17.  Wendywanted to conduct an experiment to test the following hypothesis:

An object with a grealer mass possesses
more potential energy when it is above the ground.

She set up four blocks using strings of different fengths as shown below.

F h » F 3
12m 1.2m
L Lk
A B 1.8m 1.8m
kg 15kg
y ¥
C D
5 kg 10 kg

sand

i

. Which two blocks should she use to test her hypothesis?

(1) Blocks Aand C
(2) BlocksAandD
{(3) BlocksBandC
(4) BlocksCandD

Page 12 of 19
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18.

19.

The diagram below shows acaston a track.

cart P

[ i1

At which point would the cart have the greatest amount of potential enhergy?

(1)
(2)
(3)
{4)

Point P
Point Q
PointR
Point §

Sam used s troliey to push some boxes for delivery. He obsarved that the trolley moved
more easily as each box was taken out.

Which of the following statement(s) is/are comect?

A

8

c

(1)
(3

LN boxes

trolley

—>

ground

ThmIsIessftictionalfomabamwmahoﬂeyandmégmundwhenmemarafawer

There is more gravitational force acting on the trolley and boxes as each box was
taken out.

The amount of frictional force between the trolley and the ground is not affected by
the number of boxes in the trolley.

A only (2 Conly
Aand B only 4y BandConly
Page 13 of 18
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20.  The diagram below shows a beam balance with objects S and. T hung at both ands. Both
objects are of the same mass.

i 1
s T

The diagram below shows what happens when an objecl, X, is placed belgw object T.

J T

T

X

Based on the observations above, which one of the following best describes objects T and

X?
Objact T Ohijact X
(1) Magnet Wooden block
(2) Steel block Magnat
{3) Aluminium block Magnet
) Steel biock Plastic block

Page 14 of 19
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21.

22,

Sophie arranged four circuits, A, B, C and D, using batteries and bulbs that were working.

C -

c D

Which of the following will Sophie most tikely observe?

(3) ForAand C, none of the bulbs wili light up.

{2) For B and D, both buibs will light up in each circuit.
(3) For A and D, only one bulb will light up in each circuit.
{4) ForBand C, only one bulb wilt light up in each circuit.

The diagram shows four working bulbs, B1, B2, B3 and B4 and four switches, 81, 82,83
and S4 in a circult. ,

B1 B2
ORI S
B3
@ 83 B4
—D—-0

s4

s2
L—o—0— i |

Which of the following shows the correct observation when the following switches are open?

Open switch{es) Ohservation
(1) 81 and S2 Only B3 and B4 light up.
(2) $1 and S3 Only B4 lights up.
{3) 83 Only B1, B2 and B4 light up.
4) 84 Only B3 lights up.
Page 15 of 19
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23.

24.

Which of the following actions help to conserve eleciricity?

TQW>

(1) ‘AsndBonly
{3) BandDonly

Tyier wanted to find out how much fight can pass through thres different
C. He placed material A between a light source and a light
the amount of light detected by the light sensor. He repeated the experime

Use renewabla sources of energy.

Choose energy-efficient appliances.

Tum on the alr-conditioner Instead of the fan.,
Allow halr to dry naturally instead of using the hairdryer.

(2) AandConly
(4) B,CandDonly

Band C. There was only one light source in the room.

[

terials, A, B and
r and recorded
t using materials

light source material light sensor
Materials Amount of light detected
by the sensor (units)
A 0
B 80
C 65
‘nong 100

Based on the results, which of ths following could represent matesials A, B and C?

A B C
(1) tracing paper clear plastic cardboard
) cardboard tracing paper clear plastic
{3) cardboard clear plastic tracing paper
4 clear plastic cardboard tracing paper
Page 18 of 19
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26.

Geetha sat for a lest in the air-conditionad school hall for twa hours. She had ieft 2 rulers on
her table and they were unused throughout the test. She then picked up both rulers to keep
in her pencll case and noticed that the metal ruler was colder than the wooden ruler.

B

3

wooden ruler

Which of the follewing is the corract explanation for her observation?
(1}  The wooden ruler lost more heat to the room,_
(2)  Geetha lost more heat to the meta! ruler when she held it.

(3 (Gestha gained more heat from the wooden ruler when she heid it.
(4)  The metal ruler was at a lower temperature than the wooden ruler.

The diagram below shows a §00 ¢r? jar, I contains 200 cm? of water. Whan the plunger was
pushed aft the way down, 150 cm?® of air in the pump went into the jar.

plunger

pump 150 cm? of air

What was t'he. volume of the air in the jar afier the plunger was pushed down?

(1) 150 cm®
) 300 cm?
(3  350cm®
(4) 450 om®

Page 17 of 19
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27.

{2)  To find out how the number of times an iron nail is stroked affects

Tristan used the stroka method to magnstise four identical ron nails, W, )
stroked the nails 15, 30, 45 and 60 times respectively.

magnet

iron nail

K, Y and Z. He

He then brought each iron nall close to a paper clip and measured the grpatest distance
from where the magnetised iron nail could start to attract the paper clip. He repeated his

experiment three times.

nier

_

paper dlip

ok,

HERREEREREEEERERER

R

What was the aim of his axperiment?

(1) To find out how the number of times an iron nail is stroked affects ils magnetic

strangth.

the number of

clip affacts the

paper clips it attracts.

(3) To find out how tha distance at which the iron nail atiracls a paper clip affects its
magnetic strength.

(4)  To find out how the distance at which the iron nail attracis a paper
number of paper clips it attracts.

Page 18 of 18
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28. A magnet and a steel bar were fixed to a wall as shown below.

I~

[«

magnet steel bar

Two rods, X and Y, were brought close to the magnet and steel bar. The table below

shows the observations mada. |
Magnet Sieel bar
Rod X attraction no effect
RodY repulsion " aftraction

Which of the following correctly identifies rods X and Y?

Rod X RodY
(hy ~ iron rod iron rod
(2) magnet - iron rod
(3) iron rod magnet
(4) magnet magnet
-~ END OF BOOKLET A ~
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Saction B: Open-Ended Questions [44 marks]
Write your answers {0 quesuons 29 to 40 In the spaces provided.

29.

n-E ons [44

Minzh, Nadia and Owen compared the life cycle of a cockroach with that of a mosquito and

mada the following statements.

Minah: Both animals have a three-stage iife cycle.
Nadia: Both animals have wings in the adult stage.
Owen: The young of both animals resembie the adulit.

(a)  Which two children made the wrong statements? Give a reason why their statements

are wrong.

(i) Name of student:

Reason:

2]

{ii) Name of student:

Reason:

The adult mosquito can spread diseases to humans. However, it is difficult
adult mosquito.

to get rid of the

{b)  Based on the life cycle of the mosquito, explain how each of these aclions carried out

regularly would help to reduce the number of mosquitoes before they
stags.

(i) Action 1: remove stagnant water that collects in the environment

reach the adult

(21

(ii) Action 2. spray onl on'water in drains

Page 3 of 17
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30. The diagram below shows fruit S.

Fruit 8

Suresh carried out an experiment with the fruit. He used one fruit S with 4 of part V and
dropped the fruit from the same height above the ground. He recorded the distance, d,
travelied by fruit § from the starfing point to the point where the fruit landed on the ground, as
shown in the diagram below.

A

Height of release
above ground

C

Point where fruit
landed on ground

Starting peint

He than remaved part V one at a time and repeated the experiment. The table below shows

his results.
Number of part V on Fruit S Distance, d (cm)

4 250
3 125
2 50
1 20

(a) What was the aim of duresh's experiment? i1

Page 4 of 17 1
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{Continue from Question 30)

(b) Based on the results recorded In the table, what is the relationship betwaen the number

of part V on Fruit S and the distance travelled by Fruit $7

[

{c) Give a reason why his resulis werg not reliable;

{1}

(d) State two characteristics of fruits dispersed by wind.

[

Page 50f 17
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a1.  The diagram below shows the human respiratory system.

(@)  inthediagram above, identify and label tha part of the human respiratory system that
allows gaseous exchange to take place with the blood. |

Wal Qi and his brother were trapped in a faully lift for 30 minutes. Fresh air could not
enter or leave the lift

(t) () Describe the changes in the amount of oxygen and carbon dioxide in the lift

after 30 minutes. i
Oxygen: |
Carbon dioxide:

(il). Explain your answer in {bXD). )]

32.  The respiratory system works with body system X to transport oxygen to all parts of the body.

(a) Identify body system X. ' : i

Describe how parts of both body systamsworkbgeﬂ\ertoremoveaarbon dioxide
from the body 1o the surrounding air. . : 1]

Page 6 of 17
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33,

Adli mixed a red substance with water to form a red-colourad liquid. He then conducted an
experiment to find out how presence of roots affects the amount of red-coloured liquid left as
shown below. :

ail

Sl

% ——— testtube ——0__|

TERAT

red-coloured liquid

(@8  Whatis the function of the roats that is being investigated in Adif's experiment?  [1)

(b} After some time, Adil noticed that the leaves of the plants tumed red. Expfain his
obsarvation using the specific plant parts invelved. i1l

Adit has two rulers that he could use to measure the héight of the water level in the test iubes
28 shown below.

3 13

2 -

1 1—
1o [

ruler K rulerl

(¢}  Explain why ruler L Is a better choice to measure the height of the water level. 1]

Page 7 of 17
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34.  The diagram below shows the human digestive system.

7

(a) (i) In the diagram above, identify and label the parts where digestion takes place. [1]

(ii) What Is the function of digestive juices? M

Some eideny-are missing a lot of teeth. They have difficully eating big pieces of food.

{b)  Explain how having ower teeth/tould rasult in a lower rate of digestion. 23

: 17
Page 8 of 4
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J5.

Xiaoli played badminton using a racket with a plastic handle. While playing, she perspired a

lot and her racket kept slipping from her hand.

Before the next game, she taped the plastic handle with material A, Ma?rial A was not
9

waterproof. She found that the racket did not slip from her hand during the

(a) Based on the information given, explain, in terms of forces, how this property of

material ‘A helped Xiaoll to grip her racket better.

me.

(2]

During the game, Xiaok hit the shuttiecock in the direction of her brother wh
He then hit it back in her diraction so fast that she couid not hit the shuttleco

{b) State the 2 effects on the shuttlecock when Xiaoli's brether hitit.

(i) Effect 1:

ck back.

M

y was facing her.

(i) Effect 2:

Page 9 of 17
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36. Wen Jie built a toy as shown in diagram 1 below. He pushed the handle down and
comprassed the spring to point A as shown in diagram 2. When the handle was released, ball
X was iaunched upwards. It reached height B and fell back down to the handie again.

tube \

height B ————f—-.
/ - \

handle ——== point A

\ spring \ compressed spring
Dlagram 1 Diagram 2
(a)  State the main energy conversion that was taking place in the toy. ]
— e ,
Anergy enefgy ) energy
Comprassed spring Handie moving up Ball moving up

Wen Jia noticed that afier the ball touched the handie, it bounced back up but did not reach
height B.

(b} Expiain his observation in terms of enargy conversion. i2}

Page 10 of 17
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{Continua from Question 36}

Wen Jie wanted 1o launch ball X to a greater height, C, as shown In the diagram below.

height C - %

height 8 - 3

ball X

point A

\ compressed spring

(c) Using the same apparatus, what shoud Wen Jie do to faunch ball X to height C
instead of height B? - _ M]

Wen Jie replaced ball X with ball Y, which was of the same size. He then compressed the
. spring to point A again before launching the ball. The ball reached a maximum haight that

was lower than height B,
(d) Suggest one difference between bafls X and Y that could haye caused this
observation. il
 Page 11 of 17
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37.  Jeremy was given two objects made of different materials, P and Q, to find out if thay
conduct electricity. He connected both objects in a circuit as shown below to test them. All
the bulbs and batteries were in working condition. :

& "%
P ' Q
1 1
Jeremy’s circuit

He observed that the bulbs did not ight up and concluded that both objects P and Q did not
conduct electricity. )

(a)  Based on the circuit diagram above, explain why his canclusion may not be
: ~

Joremy changeéd the arrangement of the electrical componedtts irl his circuit to confirm if
objects P and Q could conduct electriciy.

(b)  Using all the same electrical components, draw a circuit diagram that Jeremy could
use to make a definite conclusion. 1]

Page 12 of 17 3
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38, .

r |

Mrs Tan placed four identical eggs in beakers with different amounts of water
temperatures. Set-ups P, Q, R and S were left for five minutes, The eggs gai
the water and were cooked fo different extents.

.
__________

(a)  Afier five minutes, lnwhichsat—up.P Q, R or S, will the egg be the

750 mi
500 ml of water
of water at8o°c {
at 60°C ya
3 = o =} o0
Set-up Q Set-up R

Explain your answer.

nd at different
ed heat from

750mi -
of waler

¥

He

(M3
1!

most cooked?

2

{b)  Without changing the volume and temperature of water in set-up P, suggest ancther
way Mrs Tan can ensure the agg in it cooks more fully.

i

Mrs Tan then prepared another two set-ups, T and U, as shown below.

500 ml of
water at 80°C

()  Wouid the egg in set-up U be less cooked or more cooked after five minutes as
compared to sot-up T? Explain your answer.

(1

Page 13 of 17
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39.

Vanessa carried out an experiment using & forch, a wooden bail and a screen as shown in
the diagram below. She wanted to find out how the distance of the torch from the wall
affects the height of the shadow formed. She canied out the foliowing steps.

{The diagram is not drawn to scale.)

screan
wall
torch wooden ball T
height of 18 cm
shadow l

Step 1: Switch on the torch.

Step 2: Measura and record the height of the shadow formed on the screen.
Step 3: Move the torch 5 cm away from the wall.

Step 4: Measure arxi record the height of the shadow formed on the screen.
Step 5: Repeat steps 3 and 4 two more times.

(a)  State a hypothesis on how the distanca of the torch from the wall affects the height
of the shadow formed. 1)

The table beiow shows her resulls.

Distance of torch from wall (cm) | Helght of shadow (cm

; 5 4
5 10 12
15 18
20 18

(b) Based on the information above, how did the distance between the torch and the
wall affect the haight of the shadow formed on the sZreen? [2]

Page 14 of 17

www.testpapersfree.com

BP-950



{Continue from Question 39)

Next, she hung three cardboard shapes of the same height and width at positions 1, 2 and
3 as shown In tha diagram below. Only two of them have a hele cut out injthe middia.

@ ALl

wall

g

Positions 1

The diagram below shows the shadow that she obsarved on the screen.

2 3

(¢)y Basa.&.on the shadow formed, state the positions of the shapes in the set-up above. 1

Sl_lagg

Position in the set-up

Page 15 of 17
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40. (a) State whatmelting means. (1

All conducted an experiment using 2 identical blocks of ice. He placed each block of ce ina
beaker and placed them in simitar rooms of different temperatures as shown below.

\ | \

Room at 22°C Room at 32°C

Set-up P Set-up Q

He then removed the ice blocks afler 15 minutes and measured the amount of liquid
collected in the beaker. He recorded his results in the table below.

Amount of liquid in the

Set-up measuting cylinder (ml)
P 35
Q 70

(b) Explain why there was less liquid collected in set-up P compared to set-up Q 21

www.testpapersfree.com
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(Continue from Question 40)

Two identical glasses, X and Y, with water at 20°C were placed in similar roon
temperatures as shown below.

\ plastic

lid

20°C

N

ns of different

™ plastic
lid

After a while, tiny water droplets were observed outside glass X but not outside glass Y. Both
glasses had been left untouched.

(c}  Explain why no water droplets were formed outside glass Y.

izl

~ END OF BOQKLET B ~
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Suggested Answers .
Section A
1 14 1112 2112
2 13- 11213 2213
3 14 1313 (23 )3
4 |1 1412 24 13
5 |3 1512 25(2
6 |3 1613 2612
7 |1 1714 2ri1
3 |3 1811 2813
9 |1 191
10 |2 202
Section B
Qn No Acceptable Answers
29.(a) | Minah.
The mosquito has a four-stage life cycle but the cockroach has a three-stage #fe cycle.
Owen,
The young of the mosquito does not rasembls the aduit but the young of the cockroach
resembies the adult. :
{(bXi) | Action1
There will be no place to lay eggs. (Effect of action)
So there will be fewer eggs to halch and develop into farva and adults. {Effect on life cycle)
(0 |Action2 _
The yt;ung of the mosquito will not be able to obtain air/ cannot braathe (D.5m) and will die
(0.5m). .
30. (a) | Tofind out how the number of part V affects the distance fruit S travels.
(b) | As the number of part V on the fruit decreases, the distance travelied by the fruit decreases.
{c) __| He did not repeat the experiment at ieast 3 times. |
(d)__| The seed shouid be fight, smal and has wing-fike struciure {any 2 characleristics)
31.(a)
(bX1)
(1) __{ Wel Qi and his brother took in oxygen and gave out carbon dioxide.
32. (a} | Circulatory system
(b) | The blood in body sysiam X transporis carbon dioxide away from all parts o7 tha body and br
it to the lungs to be exhaled through the nose. Y and brings
33.{a) [ To absorb water and mineral salts.
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(3]

The water-canying tubes transported the liquid to the leaves.

{e)

Ruler L has more scale markings and therefore will give mora accurate measurements of the

haight of water iavel.

(@i}
€}]

Label mouth, stomach, smali intestine
Digestive julcas break down food into simpler substances.

(b)

FEood I8 In bigger pieces so there will be jess ¢

ag.(a)

Matenial A absorbad Xiaoll's perapiration so there was increased friction bet\;rean Materlal A and
her hand.

(b}

» The shuttiscock changed diraction.
s The shutiiecock changed speed.

38, (a)

potential snergy - kinetic energy - kinetic energy/ potantial energy

(b}

Some kinetic energy of the ball was converted to heat energy and sound ensrgy.
The ball had iess kinatic enargy to reach B.

{c)

Bush the hendie down more.

(d)

Bail Y had a greater mass than ball X.

37.{a)

Either object P or G could ba a conductor of electricity. However, since both objects are arranged ;

Insarlnswlmmabm they will not light up as it is an open circuit,

(e)

fif

~— P
R—{ o}—

38. (a)

Mmp&ﬂmmwatmmw»themwpmed the most

(b

NlowmogggwcookforbngermanSmmtu

(c)

L.ass cooked, Thoeggfrommmmhrmuﬂammnneededmmggmg
to be cooked.

30.(a)

(All hypothesis accepted as long as It addresses the question)
The gragier the distance of the torch from the wall, the gregier the heigit of the shadow formed.

(b)

1

As the distance batween the torch and the wali ingregsed, the height of the shadow formed
Ingragsed untll 15cm. Above 15¢cm, the height of the shadow formed on the screen remained the

{c)

2809
2,31

'J%fl

m:mwwmwmmugamumnmt«mﬂm

Thomomforut—up?hadam_wmmform-upn.fhoicebbdtmset-uangt_lgg,

(c)
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